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ook from

do of the
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main wales ; take the depth from the under side of the deck

phuik to the ceiling of the hokl, and deduct from the length

tln-ee fifths of the breadth ; multiply the remainder by the

breadth, and the product by tlie depth, and divide the last

product by 95.

For doiihle-deched vessels.— Proceed as with single-decked

vessels, except for the depth take half the breadth.

GAUGING.

Gau";inij sitriu'fies the art of measurin"; all kinds of vessels

and determining tlieir capacity or the quantity of fluid or

other matter tliey contain. It is usual to divide casks into

four varieties, wliich are judged of from the greater or less

apparent curvature of their sides, namely :
—

1. Tlie middle frustum of a spheroid.

2. Tlie middle frustum of a parabolic spindle.

3. The two equal frustums of a paraboloid.

4. The two equal frustums of a cone.

282 cubic inches make 1 ale gallon, or beer.

231 cubic inches make 1 wine gallon.

21,504 cubic mches make 1 malt bushel.

To Jind the contents of a Cask by the Mean Diameter.

Rule. — IMultiply the difference of the head and bung di-

ameters by .G8 for the first variety ; by .02 for tlie second

;

by .55 for the third ; and by .5 for the fourth, when the dif-

ference between the head and bung dinmeter is less than G

inches ; but when the difference between these exceeds 6

inches, multiply that difference by .7 for the first variety ; by

.G4 for the second; by .57 for the third; and by .52 for the

fourth. Add this product to the head diameter, and the

sum will be a mean diameter. Square this mean diameter,

and multiply the square by the length of the cask ; this

product multiplied or divided by the proper multiplier or

divisor, will give the contents.

1. What are the contents of a spheroidal cask, whose


